This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 7 - Whitburn and Blackburn

6,136

4

1,228

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
JIM DICKSON	Scottish National Party (SNP)	1,734
MARY ROBERSTON DICKSON	Scottish National Party (SNP)	636
Bruce FAIRBAIRN	Scottish Conservative and Unionist	1,135
Derek Graham PATTLE	Scottish Liberal Democrats	148
George PAUL	Labour and Co-operative Party	1,237
Carole RACIONZER	Scottish Green Party	190
Kirsteen SULLIVAN	Labour and Co-operative Party	1,056
·	Total	6,136

Candidate JIM DICKSON Elected with 1,734 votes, being in excess of the quota of 1,228 Candidate George PAUL Elected with 1,237 votes, being in excess of the quota of 1,228

This report contains the transfers results.

Stage 2 - Surplus of JIM DICKSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to MARY ROBERSTON DICKSON	1,539	0.29181	449.09559
Transfer to Bruce FAIRBAIRN	12	0.29181	3.50172
Transfer to Derek Graham PATTLE	14	0.29181	4.08534
Transfer to Carole RACIONZER	46	0.29181	13.42326
Transfer to Kirsteen SULLIVAN	43	0.29181	12.54783
No further preference	80	0.29181	23.34480
Not transferred due to rounding			0.00146
	Total		506.00000

This report contains the transfers results.

Stage 3 - Surplus of George PAUL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kirsteen SULLIVAN	974	0.00727	7.08098
No further preference	102	0.00727	0.74154
Not transferred due to rounding			0.00701
	Total		9.00000

This report contains the transfers results.

Stage 4 - Exclusion of Derek Graham PATTLE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to MARY ROBERSTON DICKSON	9	1.00000	9.00000
Transfer to Bruce FAIRBAIRN	36	1.00000	36.00000
Transfer to Carole RACIONZER	26	1.00000	26.00000
Transfer to Kirsteen SULLIVAN	45	1.00000	45.00000
Transfer to MARY ROBERSTON DICKSON	4	0.29181	1.16724
Transfer to Carole RACIONZER	5	0.29181	1.45905
Transfer to Kirsteen SULLIVAN	3	0.29181	0.87543
Transfer to MARY ROBERSTON DICKSON	3	0.00727	0.02181
Transfer to Bruce FAIRBAIRN	6	0.00727	0.04362
Transfer to Carole RACIONZER	7	0.00727	0.05089
Transfer to Kirsteen SULLIVAN	16	0.00727	0.11632
No further preference	32	1.00000	32.00000
No further preference	2	0.29181	0.58362
No further preference	6	0.00727	0.04362
Not transferred due to rounding			0.00000
	Total		152.36160

This report contains the transfers results.

Stage 5 - Exclusion of Carole RACIONZER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to MARY ROBERSTON DICKSON	91	1.00000	91.00000
Transfer to Bruce FAIRBAIRN	12	1.00000	12.00000
Transfer to Kirsteen SULLIVAN	66	1.00000	66.00000
Transfer to MARY ROBERSTON DICKSON	31	0.29181	9.04611
Transfer to Bruce FAIRBAIRN	1	0.29181	0.29181
Transfer to Kirsteen SULLIVAN	5	0.29181	1.45905
Transfer to MARY ROBERSTON DICKSON	1	0.00727	0.00727
Transfer to Bruce FAIRBAIRN	2	0.00727	0.01454
Transfer to Kirsteen SULLIVAN	16	0.00727	0.11632
No further preference	47	1.00000	47.00000
No further preference	14	0.29181	4.08534
No further preference	15	0.00727	0.10905
Not transferred due to rounding			0.00000
	Total		231.12949

This report contains the transfers results.

Stage 6 - Exclusion of Bruce FAIRBAIRN

1,187.33878

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to MARY ROBERSTON DICKSON	34	1.00000	34.00000
Transfer to Kirsteen SULLIVAN	556	1.00000	556.00000
Transfer to MARY ROBERSTON DICKSON	3	0.29181	0.87543
Transfer to Kirsteen SULLIVAN	5	0.29181	1.45905
Transfer to MARY ROBERSTON DICKSON	6	0.00727	0.04362
Transfer to Kirsteen SULLIVAN	34	0.00727	0.24718
No further preference	593	1.00000	593.00000
No further preference	5	0.29181	1.45905
No further preference	35	0.00727	0.25445
Not transferred due to rounding			0.00000
	Total		1,187.33878